do/dn [pb/rad]

Ratio to CMS

10*

10°

10?

0.5

7000 GeV pp
T

Rivet 3.1.10, = 2.7M events

B N(b-jet) (cms2016-2b2j) N
| m CMS L
— --3-- Herwig 7.2.1 default -
— —— Pythia 8.308 default ]
o ¢ Sherpa 2.2.9 default ]
m u m
= . ] .
- mee------BE - G---co___ —
- =R - B a.. =
I E R -
- . i
- ’ ----- —
- [— v T
- 4 | b 4
:| i IR R NP PR AN PO AT NP RO NP S NP AP At PR RPN ' | | |:
:I T | T T T T | T T T T | T T T T | T T T | T I:
1 1 \l\ 1 1 1 1 " | " 1 1 1 1 | 1 1 1 1 | 1 1 1 " |D 1 1
-2 -1 0 1 2

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


